| Efficiency vs Dxy |
0.2
<

S : : : : : : : : :
LB

TSRS S T S S e st
(] r : : : : : : : : :
e

e
0 e e e
OB
GO0
e
002

O_IIII:IIII:IIII:IIII:III | II:IIII:IIII:IIII:IIII

Ratio

0 1 [ s S N

_2BT20-15-10 =50 5 10 15 20 25
TP dxy (cm)

—=— DQMstep3_TT_CKF
[Efficiency vs Dz | |—s— DQMstep3_TT_default

—— DQMstep3_TT_defaultNEWTepol10
3 0.2 : : : :

1
D8l

Q - : : : : :
.é_?'lGZ : : : : :
@) - : : : : :
.14 o Frrereree frorereeeee A
()] L : : : : :

0.12f e o — e
0.1F :
0.08F

0.06F : . :
0,04 b

oo

Ratio

[
=]
—==

8302 Y10 20 30
TP dz (cm)



	Contents
	Page 1


